
ECE 322              Fall 2019             Quiz 2 (11/6/2018) 

Duration: 20 minutes.         Good Luck! 

Name________________________________       Score ______/30 

Q1 (a) (10 points): For the amplifier circuit shown below, calculate the following DC operating point 

parameters (Assume |VBE| for an ON transistor to be 0.7V):   

IB =________         IC = _______        VC = ________ 

 

 

 

 

 

 

 

 

 

(b) (10points): Calculate the following small signal parameters (assume Vth = 25mV): 

gm = ____________             rπ = _____________ 

 

 

 

 

(c) (10 points) Draw the small signal model of the amplifier shown above.  

 

 

 

 

 

 

 

 

Q2 (Bonus 2points): Which planet is between Jupiter and Uranus? _______________ 
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